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1. Underutilisation and unutilisation of

resources will shift the Production Possibility

Frontier to the left. Defend or refute.

Watch Video Solution

2. Producer Equilibrium is attained only when

marginal revenue is equal to marginal cost. Is

it correct ?

Watch Video Solution

https://dl.doubtnut.com/l/_4WmLfDjktbpH
https://dl.doubtnut.com/l/_wnxDwFr12m4a
https://dl.doubtnut.com/l/_YljxRYkizYXN


3. "The demand for a commodity always

increases whenever the price of other goods

rises". Do you agree with the given statement

?

Watch Video Solution

4. "The gap between Average Variable Cost and

Average Fixed Cost falls when output rises".

Defend or refute.

Watch Video Solution

https://dl.doubtnut.com/l/_YljxRYkizYXN
https://dl.doubtnut.com/l/_VKC6I0nAm62E


5. "Production function establishes a technical

relation between inputs and output, and not

economic relation". Comment.

Watch Video Solution

6. "An economy always operates on production

possibility frontier and not inside it". Do you

agree with the given statement?

Watch Video Solution

https://dl.doubtnut.com/l/_p87nuymDanhU
https://dl.doubtnut.com/l/_MRj8bvaPMIEX
https://dl.doubtnut.com/l/_75lpElonhPdM


7. The total expenditure to be incurred by a

family on a good is bound to increase when

price of such good rises. Comment.

Watch Video Solution

8. Demand for electricity has "increased".

However supply cannot be increased due to

lack of resources. Explain how, in any two ways,

demand for electricity can be "decreased".

Watch Video Solution

https://dl.doubtnut.com/l/_75lpElonhPdM
https://dl.doubtnut.com/l/_ZTccJxSqEelP


9. A entrepreneur is planning to set up a

factory in an extremely backward region of

India and is thinking about the technique of

production to be used for production. Suggest

which technique of production should be used

for the social uplitment of the region, if there

are large number of unemployed people.

Watch Video Solution

https://dl.doubtnut.com/l/_wdlHRTPP5XkN


10. The price elastically of demand for life-

saving drugs is inelastic. As a result,

manufacture have the freedom to fix higher

prices for them. How can this problem be

handled?

Watch Video Solution

11. In every economy, human want are

unlimited and resources to satisfy them are

https://dl.doubtnut.com/l/_0sTTXKGSDA6V
https://dl.doubtnut.com/l/_iB9a0bMUgUG8


limited. What should be done to maximise the

satisfaction of human needs?

Watch Video Solution

12. The demand for petrol is increasing

continuously. However, being a non-renewable

resource, its supply is limited. Discuss any 2

steps that can be taken to overcome this

problem?

Watch Video Solution

https://dl.doubtnut.com/l/_iB9a0bMUgUG8
https://dl.doubtnut.com/l/_DEE1wNRaCwtA
https://dl.doubtnut.com/l/_58IIHipakY0L


13. A producer starts a buisness by investing

his own savings and hiring the labour. Identify

implicit and explicit costs from this

information.

Watch Video Solution

14. A country's resources are fully and

efficiently employed. The problem of scarcity

exists. What advice will be given to raise the

efficiency level of the human resources of light

scarcity?

https://dl.doubtnut.com/l/_58IIHipakY0L
https://dl.doubtnut.com/l/_gJiXXFgJCLEM


Watch Video Solution

15. At a certain output level, the total revenue

and total cost of a firm a equal. What is this

situation termed as? Whether the firm is

earning normal profits or not.

Watch Video Solution

16. Production in an economy is below its

potential due to unemployment. Government

https://dl.doubtnut.com/l/_gJiXXFgJCLEM
https://dl.doubtnut.com/l/_LhGk0IkDsXDA
https://dl.doubtnut.com/l/_P6jBi3GOP962


starts employment generation schemes.

Explains its effect using production

possibilities curve.

Watch Video Solution

17. A lot of people died and many resources

were destroyed due to floods in Kashmir. How

will it affect the PPF of the economy?

Watch Video Solution

https://dl.doubtnut.com/l/_P6jBi3GOP962
https://dl.doubtnut.com/l/_MAU3XajxYPb7


18. "Marginal Product cuts the Average Product

from its top". Do you agree with the given

statement?

Watch Video Solution

19. Equilibrium price of an essential medicine

is too high. Explain what possible steps can be

taken to bring down the equilibrium price but

only through the market forces. Also explain

https://dl.doubtnut.com/l/_oi4CwEsrhEX3
https://dl.doubtnut.com/l/_x4ArH7V9h3H5


the series of changes that will occur in the

market.

Watch Video Solution

20. "The demand curve of a commodity will not

obey the law of demand, i.e., it will not slope

downwards if there is a rise in the price of

substitute goods". Comment.

Watch Video Solution

https://dl.doubtnut.com/l/_x4ArH7V9h3H5
https://dl.doubtnut.com/l/_2YtjZEetKX37


21. Almost one-third of Indians consume some

form of tobacco and many use more than one

type of tobacco product. The consumption of

tobacco is a reason for almost 40% of non-

communicable diseases like cancer,

cardiovascular diseases and lung disorders.

What can be done to come out of this

situation ?

Watch Video Solution

https://dl.doubtnut.com/l/_6nfbPJNsNdll


22. "Average Variable cost Curve reaches its

minimum point before the Average Cost

Curve". Comment

Watch Video Solution

23. Cigarette smoking is injurious to health.

How can the government reduce it

consumption but only through the normal

market forces. Explain the chain of effects of

government's action.

https://dl.doubtnut.com/l/_7sa5tiAKnHmy
https://dl.doubtnut.com/l/_y2GWU7Ph1Nnw


Watch Video Solution

24. Why does Marginal cost curve cut the

Average Variable Cost Curve at its minimum

point?

Watch Video Solution

25. Pulp and paper production is the third

largest producer of air, water and land

pollution. Suggest three ways to overcome

this problem?

https://dl.doubtnut.com/l/_y2GWU7Ph1Nnw
https://dl.doubtnut.com/l/_pigajnKMSINT
https://dl.doubtnut.com/l/_TbapQHQt20ca


Watch Video Solution

26. Unemploymet is reduced due to the

meaures taken by the government. State its

economic value in the context of production in

possibilities frontier.

Watch Video Solution

27. Scarcity is a common feature of both

developed and developing economy. Still,

https://dl.doubtnut.com/l/_TbapQHQt20ca
https://dl.doubtnut.com/l/_kprEBhtNzxam
https://dl.doubtnut.com/l/_JtpO4iNGsXpj


economising of resources is more important

conutries as compared to developed

countries? Do you agree?

Watch Video Solution

28. "When marginal revenue is positive and

constant, both average and total revenue

rate", whereas average revenue will be

constant.

Watch Video Solution

https://dl.doubtnut.com/l/_JtpO4iNGsXpj
https://dl.doubtnut.com/l/_RY28m7WCKlY2
https://dl.doubtnut.com/l/_3OGOvQ0WyzfK


29. Vehicular pollution in India is increasing at

an alarming high rate. State any two ways in

which it can be controlled.

Watch Video Solution

30. Marginal revenue is always the price at

which last unit of a commodity is sold.

Comment.

Watch Video Solution

https://dl.doubtnut.com/l/_3OGOvQ0WyzfK
https://dl.doubtnut.com/l/_grcvpnhwTNcy
https://dl.doubtnut.com/l/_AbsGaI4Waot6


31. On 11 September, 2012, Delhi government

enforced a complete ban on the manufacture,

sale and storage of "Gutka" in the national

capital. How will it affect the market demand

and supply of gutka?

Watch Video Solution

32. In case of perfect competition, the

horizontal straight line demand curve

indicates that an individual firm has no control

over price of his product. Comment.

https://dl.doubtnut.com/l/_AbsGaI4Waot6
https://dl.doubtnut.com/l/_syzWxCyXwpUf


Watch Video Solution

33. Children are the future policy makers of

our country. However, many of the poor

children are ill-trearted and are forced to work

at a tender age. Discuss the steps that need to

be taken to reduce child labour?

Watch Video Solution

34. If Marginal Cost is equal to Marginal

Revenue at two output levels, then any one of

https://dl.doubtnut.com/l/_syzWxCyXwpUf
https://dl.doubtnut.com/l/_H4wbAdlRNFG2
https://dl.doubtnut.com/l/_5AUxfJNoiDPl


the output level can be taken as state of

producer's eqauilibrium. Defend or refute.

Watch Video Solution

35. "Use the chemical fertilisers, but becomes

food shortage, give good dividends at one

time in the form of increased production, but

becomes a disaster later in the form of

adverse effects on health". How can we

overcome this problem?

Watch Video Solution

https://dl.doubtnut.com/l/_5AUxfJNoiDPl
https://dl.doubtnut.com/l/_w2i3IfNC7aQ8


36. A monopolist firm has full control over the

price and demand for this product. Do you

agree with the given statement?

Watch Video Solution

37. Individual supply curves are steeper as

compared to market supply curve. Defend or

refute.

Watch Video Solution

https://dl.doubtnut.com/l/_w2i3IfNC7aQ8
https://dl.doubtnut.com/l/_sjT0zvhpUv7R
https://dl.doubtnut.com/l/_ESJVSp0VTn7a


38. One of the central problems of an economy

is "How to Produce". The planners of Indian

Economy are stressing on using labour

intensive techniques for production of goods

and services. Do you justify this on the

grounds of moral responsibility?

Watch Video Solution

39. Name the economic value achievable when

attempts are made to increase resources in

https://dl.doubtnut.com/l/_9vo8t10d5nAu
https://dl.doubtnut.com/l/_V4hh9NuyB6fu


the country.

Watch Video Solution

40. Will a firm in a competitive in a market ever

produce a positive level of output in the range

where the marginal cost is falling?

Watch Video Solution

41. Name the economic value achieved

through the spread of education in the

https://dl.doubtnut.com/l/_V4hh9NuyB6fu
https://dl.doubtnut.com/l/_aCtSajM6haQo
https://dl.doubtnut.com/l/_dp29fTI46hNv


context of production potential.

Watch Video Solution

42. The availability of fresh water may become

the most crucial problem over the coming

decades. Enumerate some of the steps which

need to be taken to save water?

Watch Video Solution

https://dl.doubtnut.com/l/_dp29fTI46hNv
https://dl.doubtnut.com/l/_Wg62I3p1sOSo


43. Large number of technical training

institutions have been started by the

government. State its economic value in the

context of production possibilities frontier.

Watch Video Solution

44. A producer will change supply of a product

only when there is a change in the price of

given product.

Watch Video Solution

https://dl.doubtnut.com/l/_oWr2LIbd3DgW
https://dl.doubtnut.com/l/_BSVD9zYG4wN1


45. The government has started promoting

foregin capital. What is its economic value in

the context of Production Possibilities

Frontier?

Watch Video Solution

46. When equilibrium price of a good is less

than its market price, there will be

competition among the sellers. Defend or

refute.

https://dl.doubtnut.com/l/_BSVD9zYG4wN1
https://dl.doubtnut.com/l/_2Qd9t3iMLB48
https://dl.doubtnut.com/l/_UUSdh8ZCI3jB


Watch Video Solution

47. Some firms under monopolistic

competition are successful in creasting a

differentiated image of their products

through heavy selling costs. It enables them to

charge higher prices for their products.

However, such product differentiation is

sometimes imaginary. As a result, consumers

suffer because 

(i) Do you think, this is justified in terms of

moral business ethics? 

https://dl.doubtnut.com/l/_UUSdh8ZCI3jB
https://dl.doubtnut.com/l/_rzAaYoJboTmH


(ii) Why ethical buisness behaviour is

important in this modern competitive world? 

(iii) What can be done to handle this

situation?

Watch Video Solution

48. Under monopoly, the barriers to entry and

exit of firms lead to absence of competition in

the market. Do you think this is necessary in

certain strategic areas like in the case of

https://dl.doubtnut.com/l/_rzAaYoJboTmH
https://dl.doubtnut.com/l/_7Ec6uiONFrjH


production of defense goods and atomic

energy?

Watch Video Solution

49. What policy initiatives can the government

undertake to increase the demand of milk in

the country? Mention any one.

Watch Video Solution

https://dl.doubtnut.com/l/_7Ec6uiONFrjH
https://dl.doubtnut.com/l/_9ea25CWI3B6U


50. The following headline appeared in the

Hindustan Times on  August, 2014. "Crop

damaged in Himachal sent tomato prices

roaring in Delhi". Use a diagram and economic

theory to analyse the statement.

Watch Video Solution

2nd

51. On  December, 2013, the following news

item was printed in the Economic Times:

"Household in Southern India prefer to eat

19th

https://dl.doubtnut.com/l/_C5BK1618Pwpt
https://dl.doubtnut.com/l/_JHuStCNBjTou


organges for breakfast as banana plantations

in Kerala have been destroyed and price of

apples and grapes have also risen". Use a

diagram and economic theory to analyse the

impact of the rise in price of apples and

grapes on the market of oranges.

Watch Video Solution

52. The measure of price is elasticity of

demand of a normal good carries minus sign

https://dl.doubtnut.com/l/_JHuStCNBjTou
https://dl.doubtnut.com/l/_Qiwbx7ItCRzU


Model Test Paper 1

while price elasticity of supply carries plus

sign. Explain why?

Watch Video Solution

1. Define opportunity cost.

Watch Video Solution

https://dl.doubtnut.com/l/_Qiwbx7ItCRzU
https://dl.doubtnut.com/l/_CEe6fOVZ5Nth


2. At what level of production is total cost

equal to total fixed cost

Watch Video Solution

3. Which of the following does not cause shift

of suppply curve of a good? (Choose the

correct alternative)

A. Price of input

B. Price of the good

https://dl.doubtnut.com/l/_cC1il6TdVnht
https://dl.doubtnut.com/l/_rC4PjpP2v9me


C. Goods and Services Tax

D. Subsidy

Answer: B

Watch Video Solution

4. Which of the following measures of price

elasticity shows elastic supply? (Choose the

correct alternative)

A. 0

https://dl.doubtnut.com/l/_rC4PjpP2v9me
https://dl.doubtnut.com/l/_cpnpbFRkIGH5


B. 

C. 

D. 

Answer: D

Watch Video Solution

0.5

1.0

1.5

5. In what circumstances may the production

possibility frontier shift away from the origin ?

Explain 

OR 

https://dl.doubtnut.com/l/_cpnpbFRkIGH5
https://dl.doubtnut.com/l/_9DsvXmtHskEZ


Explain the central problem of ''What is

produced and in what quantities''

Watch Video Solution

6. A consumer buy 200 units of a good at a

price of Rs 20 per unit. Price elasticity of

demand is . At what price will he be

willing to purchase 300 units? Calculate

Watch Video Solution

( − )2

https://dl.doubtnut.com/l/_9DsvXmtHskEZ
https://dl.doubtnut.com/l/_moKNB8N7MB9O


7. Write a buyget line equation of a consumer

if the two goods purchased by the consumer.

Good X and Good Y are priced at 10 and Rs 5

respectively and the conumer's income is Rs

100 

OR 

Define marginal rate of substitution. Explain

its behaviour along an indifference curve.

Watch Video Solution

https://dl.doubtnut.com/l/_wgXKrnYHqBxd


8. Explain the conditions of producer's

equilibrium under perfect completition.

Watch Video Solution

9. Explain the implications of ''freedom of

entry and exit of firms'' under perfect

competition

Watch Video Solution

https://dl.doubtnut.com/l/_ctgwdJXzKSyR
https://dl.doubtnut.com/l/_7fsjGzB5Tg7Q


10. A consumer consumes only two goods X

and Y. Explain the conditions of consumer's

equilibrium using Utility Analysis.

Watch Video Solution

11. Draw Average Variable Cost (AVC), Average

Total Cost (ATC) and Marginal Cost (MC) curves

in a single diagram. State the relation between

MC curve and AVC and ATC curves.

Watch Video Solution

https://dl.doubtnut.com/l/_oQjwClyPIH6e
https://dl.doubtnut.com/l/_mJFY6Nj5DiKb


Model Test Paper 2

12. Define price floor. Explain the impications of

price floor 

OR 

Market of a good is in equilibrium. Demand for

the good 'decreases'. Explain the chain of

effects of this change

Watch Video Solution

https://dl.doubtnut.com/l/_mJFY6Nj5DiKb
https://dl.doubtnut.com/l/_lXyI0zAbrTTk


1. What do you mean by the problem of

scarcity ?

Watch Video Solution

2. Dfine cost

Watch Video Solution

3. When average cost falls, marginal cost:

(Choose the correct alternative)

https://dl.doubtnut.com/l/_Dl6CGTIrQ1Rx
https://dl.doubtnut.com/l/_sgPBlZbWNC86
https://dl.doubtnut.com/l/_SGEymF3PpmXz


A. Falls

B. Rises

C. May fall or may rise

D. Neither falls nor rises

Answer:

Watch Video Solution

4. When marginal product rises, total product:

(Choose the correct alternative)

https://dl.doubtnut.com/l/_SGEymF3PpmXz
https://dl.doubtnut.com/l/_NnvWx0ccCPoP


A. Falls

B. Rises

C. Can rise or can fall

D. Remains constant

Answer:

Watch Video Solution

5. Distinguish between microeconomics and

macroeconomics. Give an example of each. 

OR 

https://dl.doubtnut.com/l/_NnvWx0ccCPoP
https://dl.doubtnut.com/l/_19alXc90za1T


What will likely be the impact of large scale

outflow of foregin capital of Production

Possibilities curve of the economy and why ?

Watch Video Solution

6. State any three determinants of indvidual

demand other than own price of the good.

Watch Video Solution

https://dl.doubtnut.com/l/_19alXc90za1T
https://dl.doubtnut.com/l/_n0srmvxwaqVj


7. Comment upon the shape of the demand

curve if the price of a commodity rises by 10%

and there is no change in its quantity

demanded.

Watch Video Solution

8. What is revenue in microeconomics ? State

the relation between marginal revenue and

average revenue under perfect competition

using usitable diagram or schedule 

https://dl.doubtnut.com/l/_cbwHjHDpuiWC
https://dl.doubtnut.com/l/_QgQHQe7bLfL5


OR 

Dfine supply. Distinguish between ''increase in

supply'' and ''extension in supply''

Watch Video Solution

9. Explain the effect of 'Maximum Price Celling'

on the market of a good. Use diagram

Watch Video Solution

https://dl.doubtnut.com/l/_QgQHQe7bLfL5
https://dl.doubtnut.com/l/_D10hPoM9K73D


10. A consumer consumes only two goods X

and Y both priced at Rs 3 per unit. If the

consumer choose a combination of these two

goods with Marginal Rate of Substitution

equal to 3, is the consumer in equilibrium ?

Give reason. What will a rational consumer do

in this situation ? Explain ltrbgt OR 

State and explain three properties of

indifference curves.

Watch Video Solution

https://dl.doubtnut.com/l/_dxnFnj2c5bwx
https://dl.doubtnut.com/l/_69vm99AV5cNv


Model Test Paper 3

11. Explain the law of variable proportions with

the help of total product curve. Use diagram.

Watch Video Solution

12. State and discuss four characteristics of

perfect competition

Watch Video Solution

https://dl.doubtnut.com/l/_69vm99AV5cNv
https://dl.doubtnut.com/l/_mqm4yTHTunMa


1. Which of the following is a statement of

normative nature in economics ? 

(a) Economics is study of choices/alternatives 

(b) 

(c) According to an estimate, in spilt of severe

shortage, more than 10% of houses in Indian

cities are lying vacant 

(d) Accommodation of Refugees is posing a

big problem for the Europe

A. Economics is study of

choices/alternatives

https://dl.doubtnut.com/l/_xluhxddVeZ80


B. Government should be concerned with

how to reduce unemployment

C. According to an estimate, in spilt of

severe shortage, more than 10% of

houses in Indian cities are lying vacant

D. Accommodation of Refugees is posing a

big problem for the Europe

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_xluhxddVeZ80
https://dl.doubtnut.com/l/_6rAXnjYRVU1G


2. Define Marginal Physical Product

Watch Video Solution

3. A firm is operating with a Total Variable cost

of Rs 500 when 5 units of the given output are

produced and the Total Fixed Costs are Rs 200,

what will be the Average Total Cost of

producing 5 units of output ? 

(i) Rs 140 (ii) Rs 100 

(iii) Rs 120 (iv) Rs 300

Watch Video Solution

https://dl.doubtnut.com/l/_6rAXnjYRVU1G
https://dl.doubtnut.com/l/_9X9elW45vc6h


4. In an imperfectly competitive market, if the

Total Revenue is maximum, Marginal Revenue

will be...........

Watch Video Solution

5. Discuss the characteristics of Production

Possibility Frontier. 

OR 

https://dl.doubtnut.com/l/_9X9elW45vc6h
https://dl.doubtnut.com/l/_G3cLtwXSw1Gw
https://dl.doubtnut.com/l/_FKkLfF2ikU3Y


Draft a hypothetical schedule for a straight

line Production Possibility Curve.

Watch Video Solution

6. Giving reason, state the impact of each of

following on demand curve of a normal good

'X' if: 

(i) Price of its complementary good falls. 

(ii) News reports claims that consumption of

product X has harmful effect on human health.

(iii) Income of consumer increases.

https://dl.doubtnut.com/l/_FKkLfF2ikU3Y
https://dl.doubtnut.com/l/_RScx9fN2B96j


Watch Video Solution

7. (a) Arrange the following coefficients of

price elasticity of demand in ascending order:

 


(b) comment upon the degree of elasticity of

demand for commodity X, if the price of the

commodity falls from Rs 28 per unit to Rs 23

per unit and its quantity demanded rises from

50 units to 100 units

Watch Video Solution

0.87, − 0.53, − 3.1, − 0.80

https://dl.doubtnut.com/l/_RScx9fN2B96j
https://dl.doubtnut.com/l/_edSXlXaGn4m0
https://dl.doubtnut.com/l/_5GxHMXxnZxnx


8. Explain the concept of 'buffer stock' as a

tool of price floor 

OR 

Market for a product is in equilibrium. Supply

of the product 'decreases'. Explain the chain of

effect of this change till the market again

reaches equilibrium. Use diagram.

Watch Video Solution

9. Explain how the following factors effect the

supply of the commodity. (Any two) 

https://dl.doubtnut.com/l/_5GxHMXxnZxnx
https://dl.doubtnut.com/l/_wy65jUXOrhyD


(a) Price of factor imputs (b) State of

technology 

(c) Government taxation Policy

Watch Video Solution

10. (a) A consumer, Mr Aman is in state of

equilibrium consuming two good X and Y, with

given prices . What will happen if 

? 


(b) Identify which of the following is not true

for the Indifference Curves theory. Give valid

Px  and Py

MUx /Px > M
Uy

Py

https://dl.doubtnut.com/l/_wy65jUXOrhyD
https://dl.doubtnut.com/l/_Yl1CMUVC7nRu


reasons for choice of you answer. 

a. Lower indifference curve represents lower

level of satisfaction. 

b. Two indifference curves can intersect each

other. 

c. Indifference curve must be convex to origin

at the point of tangency with the budge line

at the consumer's equilibrium. 

OR 

A consumer has total money income of Rs 500

to be spent on two goods X and Y with prices

of Rs 50 and Rs 10 per unit respectively. On the

basis of the given information, answer the

https://dl.doubtnut.com/l/_Yl1CMUVC7nRu


following question. 

(a) Give the equation of the budget line for

the consumer. ltrbgt (b) What is the value of

slope of the budget line ? 

(c) How many units can the consumer buy if he

is to spend all his money income on good X? 

(d) How does the budget line change if there

is a 50% fall in price of good Y ?

Watch Video Solution

https://dl.doubtnut.com/l/_Yl1CMUVC7nRu


11. (a) Why is Total Variable Cost curve inverse

S-shaped? 

(b) What is Average Fixed Cost of a firm ? (b)

What is Average Fixed Cost of a firm ? Why is

an Average Fixed Cost Curve a rectangular

Hyperbola ? Explain with help of a diagram.

Watch Video Solution

12. Suppose the value of demand and supply

curves of a commodity-X is given by the

https://dl.doubtnut.com/l/_td10jd2GyzAJ
https://dl.doubtnut.com/l/_pI2vA8FqDyZW


following two equation simultaneously: 

 


(i) Find the equilibrium price and equilibrium

quantity of commodity X. 

(ii) Suppose that the price of a factor inputs

used in producing the commodity has

changed, resulting in the new supply curve

given by the eqation 

 


Analyse the new equilibrium the new

equilibrium price and new equilibrium

quantity as against the original equilibrium

price and equilibrium quantity.

Qd = 200 − 10p     Qs = 50 + 15p

Qs = 100 + 15p

https://dl.doubtnut.com/l/_pI2vA8FqDyZW


Watch Video Solution

https://dl.doubtnut.com/l/_pI2vA8FqDyZW

